9 step series, sample and surround mean grey U40 is too dark, adjust U40 to U41 wigh39.50. 9 step series, sample and surround mean Grey is U41, all samples are lighter based e @62.

adjust visual equal difference for the intended Grey U41 between White W and Black N adjust visual equal difference for two of 5 steps

(750,401

1 1
adjusted spacing adjusted spacing
0<=rgb*out <=1 <=rgb*our <=1
one experimental value
Pog=0,62 0.75, 0.70p04, pag
real gamma value: surround Grey: U41
yrei= log [0,50] / \og‘ [eg] 1,500 based on the value
inverse gamma vale: ~0.62
vinv=log [eug] / log [0,50] =0,666 Rt

surround Grey: U40

ieb70-1a, image 1, produce (p) equal visual difference between Black N — Whyig~®/67 ieb70-2a, image 2, produce (p) equal visual difference between two of fiveygigs67
9 step series, sample and surround mean Grey is U41, all samples are lighter based @ (.62. 9 step series, sample and surround mean Grey is U41, all samples are lighter based @62

adjust visual equal dfference for four of 9 steps

9 step series based on all visual adjustrients used for output linearization

(50,501 Q=012 =025 @=037 0 =062 -0,/5 =087 1,00
save 7 data above as text
adjusted spacing
<=rgbout <= 1 87, save 9 data below as text

0.75. 0,700, paa, pas, Pss
surround Grey: U41 062,06

0
based on the value X
Po&=0,62.
S X €1=0,12

=025 370,37 =050 057062 6=0,75 Cr=0,87 1,00

. adjust and proof threshold of
difference visible? O e e the linearized output

restart with image 1

ieb70-3a, image 3, produce (p) equal visual difference between four of nine/sfepH7

ieb70-4a, image 4, produce (p) visual threshold (+0,04?) of 9 steps; all grF0%67



